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These problems are due Tue. Dec. 6. They are based on the slides/handout
entitled ‘Introduction to Linear Grammar’.

Problem 1

Provide an LG analysis of the sentence Maria saw some donkey that brayed.

Problem 2

Provide two LG analysies of the sentence Fvery farmer saw some donkey,
corresponding to the two possible scopings of the QPs every farmer and
some donkey.

Note: technically speaking, these two analyses correspond to two distinct
sentences with the same pheno but different tectos and different semantics.



